














I decided to make box W.10 direct sup-port for the conclusion, but there are other defensible ways to put it in the diagram.





W.9 Women cannot rely on birth control [to gain control over their sex lives].





W.10 Only one contraceptive option offers women safe and fully effective birth control:  barrier methods with the backup option of abortion.  





W.8 Existing patterns of sexual dominance mean that women often have little control over their sex lives.





W.4 A woman may simply believe that bearing a child is in-compatible with her life plans at the time.





W.7 [Ending the cycle of repression against women requires that they be free to choose abortion.]





W.5 The women concerned are in the best position to judge whether abortion is the appropriate response to a pregnancy.





W.6 It is especially important to ensure that women have the authority to control their own repro-duction.





W.1 It is self-evident that the pregnant woman is the subject of principal concern in abortion decisions.





W.3 Women have abortions for a wide variety of compelling reasons.





Women have a right to choose abortion.





This is not the topic sentence of W para. 1, but it seemed relevant (it is restated at W para. 11), so I included it.  I wouldn’t fault you for leaving it out.








